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The figures in the margin indicate
SJull marks for the questions.

Answer either in English or in Assamese.
1. - Answer the following questions- : 1x8=8
©oTo Al EEPTRS Ted W3l ¢

(a) What is supply ?
st e

(b) Mention one cause of shift in demand
curve,
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GST is a/an _____ (direct/indirect)
tax. :
wm Oecnl iR Sfered ¢
GST (202 95l (2NoFF [ #{EF) 9
(d) Mention one canon of taxation as given
by Adam.Smith.
S 2129 IS 99 @61 @ A (@Y [
(e) Fill in the blank :
NDP at factor. cost is (Domestic
Income/National Income).
ATl o2 =7 T 8
| T T© NDP (32 (q==4l =/
IE @) |
(/)  What is ‘ex-ante’ savings ?
‘ex-ante’ ALY Fe
(g) Write True or False’-:
Whervl demand is perfectly inelastic,
elasticity of demand (ey) is zero.
KNG ARG i
Qe BifR7l sT~iefeirg wifsfeogiem =1, (ofodl
b Fefegommet (o) =) =4 |

e | |

Choose the correct answer :
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(h) What is the main cause of
‘unemployment according to Keynes ?

(@ WS gl e P FEd e

2. Answer any six of the following questions
2x6=12

(@) What is opportunity cost? Give a
suitable example.

sl T e Bl Soie Sl |

(b) Write two key characteristics of
monopoly that distinguishes it from
perfect competition.

aﬂﬁmmzﬁr amaﬁrhﬁf@]@mﬁw
iz 2j<f efrEforER @ o[l 2AF 724S

I |

(c) -Define ‘primary deficit’.
‘efafis aif’d wgesl ol |

(d) Why is production possibility curve
(PPC) concave to the origin ? Explain.

Sesii FEEEITSl @1 (PPC) B wRE o
Sroe] Gy 4|
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Point out two differences between
capital accounts and current accounts
of balance of payments.

(TS I =141 Rp19l o< biere 217l
e 7ol A e |

Define producers’ surplus.

ST Jifza ket el |

Suppose GDP is Rs. 5,000. Domestic
residents receive factor payments from
abroad of Rs. 250. Foreigners receive
Rs. 100 as factor payment from this
country. What is the value of GNP ?

&1 Rs. 5,000 (278 GDP | 91 Si_RIE
RO =M1 Rs. 250 o w5 o e

9% (<[ 7l Rs. 100 %5 901 | GNP T
9 299 P

Define multiplier.
R F@ foe) |

Mention any two reasons behind shift
In aggregate demand (AD) curve.

HIE B RW (AD) IR e g 707

- DIFY SRl /4|
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() Define purchasing pbwer parity (PPP)
with example.

TrizaP R @1 *fe el (PPP) I k& |

3. Answer any four of the following questions :

5x4=20
weTe Al emprRd Rl bifebl Ted fo ¢

(a) Distinguish between National Income
and Domestic Income.

AT O IF T SRS A1 B

(b) State and explain the central problem's
of an economy. :

G2 GLFIST @@ﬂmﬁmmw
SIS0 |

(c) Explain the characteristics of perfect
competition.

5jof eifSrairoreEs FEIe CIMREPTR JI0! 1 |

(d) Explain direct taxes and indirect taxes
and mention two merits and two
-demerits of both the taxes.

ST SIS SICaT 9 I T OF 7hice Rl
o SRl By Sl
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(¢) How is market demand curve derived

()

(h)

if two individuals have different demand
curves for the same product ?

GTRLOF 5} AR @S 7% gomR fes
T4 DI 4R % =7, ot i
WW%@‘?‘@@Q’%HWWI

Explain average propensitjr to consume
(APC) and marginal propensity to
consume (MPC) with the help of a
suitable diagram. - :

1% (ol 2Rl (APC) iR aiifies colst @ierel
(MPC) mmzﬁ@ﬂg@mawanﬂﬂW|

Distinguish between Elasticity of
Taxation and Buoyancy of Taxation.

W%ﬁs@mmwmvﬁw

(TYEdt .

Derive the formula of income elasticity
of demand. If income celasticity of
demand is negative, what does it
signify ? |

bifz o fefoziviem @ Mefaa = | T
SifEwE wiw ozl g o, (O(% 2
= sore :
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Answer any two of the following questions :

10x2=20

weTe WAl [l §or ehes Ted fordl ¢

(@)

(b)

(c)
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State and illustrate the law of demand
using demand schedule an.d demand
curve. What are the exceptions of the
law of demand ? 6+4=10
Sifew RECG Bl | bR SRph! i< bifw (@2
o Sifzwt fifE i 4 | pifat [ FrrE

& oo

Describe Keynes’ General Theory of

" Employment and Income with the help

of a diagram. ' . s
e LTS (FIA WCAIl WAE ST ARG
wyor Reael ot

Narrate the steps involved in estimétion
of national income by Expencht.ure
Method of national income accounting.
What are the precautions to 1;;
undertaken in this method ? 6+4=

I i oI P SO SR MCFAPTIRS
o il % A7 TR TR
& foe o
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(d) State the two conditions of equilibrium
of any firm. Explain how equilibrium
price and output are determined in a
competitive market. What explains the
efficiency of market equilibrium ? '
' 2+7+1=10

70! o1l 92| e some @
SIS 7 W Serine fdfae w1 57 gl
I | TGS T (G ) w9 5 2

(e) Tlustrate Progressive, Regressive and
Proportional Taxation with diagrams.

4+3+3=10
TZ! [ |
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